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Corrigé de I'exercice 1

Résoudre 1’équation :

9 —5 —3£C+8_7£C—4

6 * 4 3
(92 — 5)x2 . (=324 8)xs3 B (Tx —4)x4
6x2 4x3 3x4
18x—10—9x+24_ 28x — 16
4 %1

9x + 14 =282 — 16
9r — 2820 =—-16—14

—19z = =30
30 30
xr= —= —
19 19

La solution de cette équation est To-

Corrigé de I'exercice 2

Résoudre I’équation :

8r —4 —5x+10 2x+4+3

3 * 6 9
3><6 6)(3 9)(2
481 —24—-152+30 4z +6
A8 K

3B3x+6=4x+6
33z —4x=6-—-6
29z =

0

:—:0
29

x

La solution de cette équation est 0.

Corrigé de I'exercice 3

Résoudre I’équation :

—9x+9 3x+3_—4x+4
4 6 3

(—924+9)x3 (Bx+3)x2 (—4x+4)x4

4x3 6x2 3x4
— 272+ 27— (62 +6) —16x + 16

b4 ]

Année 2015/2016


http://www.toupty.com/exercice-math-3eme.html

www.talamidi.com 235 &8 50 (e Calall 128 Jraad o

Page 2/ 4 EQUATIONS -

Classe de 3°

27Tz +27—-6x —-6=—-162+ 16
—-33x+4+21=—-16x+ 16
—33z+16x =16 — 21

17z =—5
5 5
R T AT

La solution de cette équation est —.

17
Corrigé de I'exercice 4
Résoudre I’équation :
Tv+8 9x+3 —9x-7
3 2 6
(Tz+8)x2 (9z+3)x3 —92-7
3.2 2as 6
4z+16—-(27z+9) —9z2—-7
6 T8

M4z +16—-272—9=—-9x -7
-1B3z+7=-9x -7
-Bx+92=-7-7
—4r=-14

14 7
- 2

r=—=

4

La solution de cette équation est 5

Corrigé de I'exercice 5

Résoudre I’équation :

10z+8 —102-8 T7x—-3

5 T 6 4
(101‘+8)X3 (—101‘—8)><4 (7.%'—3)><6
_|_ =
8><3 6><4 4><6
30x+24—40m—32_ 422 — 18
24 oA

—10x —8 =42z — 18
—10x — 422 = —18 + 8

—522 = —10
105
T %

La solution de cette équation est %
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Corrigé de I'exercice 6

Résoudre I’équation :

—x+5 Tx-—1 —2x+4+6
6 4 2
(—CE+5)><2+ (Tx —1)xs _ (=22 4+ 6)x6
62 43 2x6
—2x+10+21x -3 —12x+36
¥z B 374

192 4+7=-122+ 36
19z +122=36—-7
3l =29

29

T =
31

La solution de cette équation est —.

31
Corrigé de I'exercice 7
Résoudre I’équation :
—6x+5+8x—7_ —3x—1
6 8§ 3
64 8x3 3x8
—242+20+24x—-21 —24x -8
24 P
Ox—1=—-24x—38
+24x =—-8+1
24x =—-7
=T
Y
La solution de cette équation est ;—4

Corrigé de I'exercice 8

Résoudre 1’équation :

-5z +9 81‘—8_81‘+8
8§ 3 6

(=52+9)x3 Bz —8)xg (8xz+8)x4

8><3 3><8 6><4
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— 152 +27— (642 —64) 322+ 32

24 oA
—15z+27—-64x 464 =322+ 32
—7924+91 =322+ 32

-9z —32x=32-91

—111z = =59
59 59
r= = —
111 111

La solution de cette équation est I
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